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T 3G Fo-TE-I (F.H1.T.) JrEaeT & J@-958 | 37febd [H1se € K 57 ST F1ieT | F19ehad qreqq
& S7fal 3= fdt aregm 4 for@ 1T I W HIF 37 T& 14 |

Ife STFVIE &1, 1 ITYH iG] FT TIT BT, TAT 37H! [ BT |

HTTITF Y % 17T FGrH=T Jifehar @27 Rl Gord 8 |

ol @ I B1 T FHFAR H ST | ST w9 @ 157 7T g9 F IR F 4 7T § @ Itz 38 et
7 T &1 | FT-8E-3FR (7. H1.T.) Gasr 7 @rctl DigT g7 g3 A7 IqF I FH T &G  HT AT T |

Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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@us A
SECTION A

Ql. (a) UH Hul & sl 1 NEd it AT T 5,000 T8 HHG  fa=e
¥ 1,200 2 | U Heg fohan Sirar 2 fob o et <t o1 oftad & Samer 2 |
144 TR fient o1 T foram o fomeht 3fa 31m = 5,500 WTE TS |
FAT qZ el S Gohdl & foh TATT Ml i 3= I e § ads &9 9
31fe 8 2 (o= 0-05 3TFNT HIfSw)
The mean annual income of workers in a company is ¥ 5,000 with a
standard deviation of ¥ 1,200. It is suspected that local workers have
higher than the average income. A sample of 144 local workers is drawn
and their sample mean income is found to be ¥ 5,500.

Can it be said that local workers have significantly higher income than
the total population ? (Use o = 0-:05) 10

(b) AT AfTash TEMM & HROT Al TE YUiEdl (SATRSEA) % GRH FHAH Ud
faetued SE TgE S-hHE HUMA % GE BH-HE W A(d-TEAT TeHd
(wE.Ht.ug. ) wEifeT 1o T8 2
What Supply Chain Management (SCM) strategies were adopted by

leading e-commerce companies such as Amazon and Flipkart during the
lockdown period caused by the Corona Pandemic ? 10

() T YUITell e Eedl i Jeush ol o # wemar ot foha gehi
mwéﬂaﬁﬁ%?

How can information system bring competitive advantage to business

organisations by supporting managerial decision-making ? 10
(d) s iR gfaem 3 feee e 2 o et foriv 491 % foe g 1 <

< 350 Sfd 3w wd ¥ 22 Wi IS BT | $HeT AT TEd (3ell shitgt) Al

AT 3ftHd Wl 1 15% 2 | IfI8E adu # T 2,20,000 GeF % g U0 a9

Glied ? |

(i) anfde smew @ (3.30.9,) I TUET HINT |

(i) Tceh Teherad Mey | fohad 3tgga et 61 smyfd &t 2 2

An engineering firm has determined that for a particular part, the cost

of purchase is ¥ 350 per order and ¥ 22 per part. Its inventory carrying

cost is 15% of the average inventory. The firm currently purchases

T 2,20,000 worth of this part every year.

(i) Determine the Economic Order Quantity (EOQ).

(i) What is the optimum number of days supply per optimum order ? 5
() T o1 37yl gerehish 1 ¥ ? 3 MEW FT Hal Al @ ? THR % 3w

Farehich 1 AT H AfFferd =xon 1 v hifg |

What is Fisher’s ideal index ? Why is it called ideal ? Describe the steps

involved in the computation of Fisher’s ideal index number. 3+2+5
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION

The entries in this table are the probabilities that a standard normal variate is

between 0 and Z (the shaded area)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239 | 0.0279 | 0.0319 | 0.0359
0.1 0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3 0.1179 | 0.1217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4 0.1554 | 0.1519 | 0.1628 | 0.1664 | 0.1700 | 0.1736 | 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5 0.1915 | 0.1950 | 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123 | 0.2157 | 0.2190 | 0.2224
0.6 0.2257 | 0.2291 | 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2517 | 0.2549
0.7 0.2580 | 0.2611 | 0.2642 | 0.2673 | 0.2704 | 0.2734 | 0.2764 | 0.2794 | 0.2823 | 0.2852
0.8 0.2881 | 0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.9 0.3159 | 0.3186 | 0.3212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 0.3413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
1.1 0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790 | 0.3810 | 0.3830
1.2 0.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997 | 0.4015
1.3 0.4032 | 0.4049 | 0.4066 | 0.4082 | 0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
1.4 0.4192 | 0.4207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4292 | 0.4306 | 0.4319
1.5 0.4332 | 0.4345 | 0.4357 | 0.4370 | 0.4382 | 0.4394 | 0.4406 | 0.4418 | 0.4429 | 0.4441
1.6 0.4452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515 | 0.4525 | 0.4535 | 0.4545
1.7 0.4554 | 0.4564 | 0.4573 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625 | 0.4633
1.8 0.4641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
1.9 0.4713 | 0.4719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0 0.4772 | 0.4778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817
2.1 0.4821 | 0.4826 | 0.4830 | 0.4834 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
2.2 0.4861 | 0.4864 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 | 0.4884 | 0.4887 | 0.4890
2.3 0.4893 | 0.4896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
2.4 0.4918 | 0.4920 | 0.4922 | 0.4925 | 0.4927 | 0.4929 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.5 0.4938 | 0.4940 | 0.4941 | 0.4943 | 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6 0.4953 | 0.4955 | 0.4956 | 0.4957 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 0.4965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.8 0.4974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 0.4978 | 0.4979 | 0.4979 | 0.4980 | 0.4981
2.9 0.4981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4986 | 0.4986
3.0 0.4987 | 0.4987 | 0.4987 | 0.4988 | 0.4988 | 0.4989 | 0.4989 | 0.4989 | 0.4990 | 0.4990
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Q. (@ () TUilrMidamwWsdd4 IR AT eamasars, 458 3 IR @
A 30| 2 9R A9 o Eehar @ | UiRikar &1 oET Hif

(A) @, S, © Tt e o geRd @
(B) S’ 3fi &Y q Fremn & Tehd €, W T <k dehar ? |

(C) © 3R T a1 Fem @ "ehd &, W < Hehel B |
(i) Tfafaa gram areft § v fofa gaen o o fomn w2

Tk <l feufaat faehea
U-l T\I.2 Q3
i 190 186 182
3 164 162 166
£ 142 144 174
afg frfafiad wgue su= feby wrd €, 1 a1 fahed =@t g 2
(A) AfFgaey AIEE
(B) Hfeafas Argug
(C) wfoersd ATIeUS

(afg 3mreTmaTe 1 gRHTOT 0-7 THET S0
1) ‘A’ can hit a target 4 times in 5 shots, ‘B’ 3 times in 4 shots and ‘C’
twice in 3 shots. Calculate the probability :
(A) ‘A’, ‘B’, ‘C’ all may hit the target.
(B) ‘B’ and ‘C’ may hit the target, but ‘A’ may not hit it.
(C) ‘C’ and ‘A’ may hit the target, but ‘B’ may not hit it.

(i1) A decision problem has been expressed in the following payoff

table :
States of Nature Alternatives
Ay A, Aq
E, 190 186 182
E, 164 162 166
Eg 142 144 174

Which alternative will be selected if the following criterion is
used ?

(A) Maximax criterion

(B) Maximin criterion

(C) Hurwicz’s criterion

(Assume degree of optimism is 0:7)

HXS-B-MGMT 4
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(b)) @

(i)
(iii)
(iv)

(i)

(i1)

(iii)

(iv)

(c) (1)

(i)

(i)

(i)

HXS-B-MGMT

“gereent g ol o9 O ol ggEar womeft (Suwed.) @ g
T TOTTeAt (TH.3TE.TH. ) agd 39Arh & 17 fewft hifse e st s
% THYT § e dIforT |

<1.U9.T9. Ud UA.37E.0H. § hH 3l fehar ST gehar 8 2

21.UH.T". & TII F 7 ?

S-Afid Ud cEdEd-alfdd €LUE.UH. & di9 ¥ gHEA Ud
FEHATT & ?

“Decision Support System (DSS) and Management Information

System (MIS) are very helpful for managers in taking decisions.”
Comment and support your answer.

How can DSS be differentiated from MIS ?
What are the components of DSS ?

What are the similarities and dissimilarities between data-driven
and document-driven DSS ?

U giasH foRel 3utor bt ufewenfiq s W famam = @ R, e
TH NG T 4,000 8 T a6id H ThY o T B | N & IUW T
7 9T T R 3\ 3UShor hl W W y9H 99 8§ 0 9 fgd 9y
4 % 1,000 8 | 9 ¥E Ufd A T 300 ¥ Fedl # |

(A) A =S @ 0% (I gfawrd) 2, df U0 e ghaednid
AT TR 2
(B) AfE &SI @ 12% &1, Tl 3UHT bl el FIwATYd AT TMMRT 2

“Gra (3adt) TR ue qehETd ufshan & foe srRer oy adde w5y
¥ fore sma & 17 wwemsv |

A firm is considering replacement of an equipment, whose first
cost is ¥ 4,000 and the scrap value is negligible at the end of any
year. Based on experience, it was found that the maintenance cost
is zero during the first year and it is ¥ 1,000 for the second year.
It increases by ¥ 300 every year thereafter.

(A)  When should the equipment be replaced if the interest rate
is 0% (zero percent) ?

(B)  When should the equipment be replaced if the interest rate
is 12% ?

“Inventory Control is a rational process in which decision-making
is often done irrationally.” Explain.



Q3. (a) (1)

(i1)

(iii)

(1)

(ii)

(iii)

() @

(i)

3-IIH dATEqehedl 1 2 ? foh Tehefiehl Fam=mil &1 36 W Yg@ Y91
qS1 8 ?

SWEA % AR W ud swmed # fonfam faftm wen
IR feh-fRaT3Tl 1 ol <hIfTY |

S-9EH o bR o foTu wra @R & el ud wet # e
Hifsu |

What is e-business architecture ? Which technological innovations
have had a major impact on it ?

Describe the four pillars of e-governance and the various types of
interactions performed in e-governance.

Discuss the Indian Government’s efforts and actions towards
implementing e-governance.

ffafaa tes (fifr) Tanfi e 1 e (Ffeea) fafy g
& HT ;
AT <AdH h{AT :
C =5x4 + 6x,
Fﬂ‘LSﬁ:
X1 + X9 = 1000
x; <300
X9 > 150

X1, X920

U foed @ar &1 93 i Sk H § TuTe B T e R ST @ |
Téi-gepm @ fifgq 500 =afhal T fohu T =T § 39 & 1Y HI qE
g 1Y ohl = T Mt € TS |

freferftaa groft § oeft & Iu=m & gfafshamd et 61 78 2

HXS-B-MGMT

IR TG JHAMFCES | WIS WG A8l
LSl 150 30 70
=t <t miferat 130 40 80
EE 280 70 150
TR ARl o AER W F 78 ey Fehren s har @ T g ik
=1 1 mierE & gwe # AEwaqul fiear 2 2
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(i)

(i)

HXS-B-MGMT

Solve the following Linear Programming Problem by Graphical

Method :

Minimize cost :

C= 5X1 + 6X2

subject to :

x; <300
X9 > 150

Xq1,X920

A certain drug is claimed to be effective in curing cold. In an
experiment on 500 persons suffering from cold, half of them were
given the drug and the other half were given the sugar pills.
Patients’ reactions to the treatment are recorded in the following

table :
Treatment Helped Harmed No Effect
Drug 150 30 70
Sugar pills 130 40 80
Total 280 70 150

On the basis of the above data, can it be concluded that there is a

significant difference in the effect of drug and sugar pills ?

10

10



CRITICAL VALUES OF CHI-SQUARE (x2)

f(2)
. W2
g > X
dar o 0.100 0.050 0.025 0.010 0.005 0.001
1 271 3.84 5.02 6.63 7.88 10.8
2 461 5.99 7.38 9.21 10.6 13.8
3 6.25 7.81 9.35 11.3 12.8 16.3
4 7.78 9.49 11.1 13.3 14.9 18.5
5 9.24 11.1 12.8 15.1 16.7 20.5
6 10.6 12.6 14.4 16.8 18.5 22.5
7 12.0 14.1 16.0 18.5 20.3 24.3
8 13.4 15.5 175 20.1 22.0 26.1
9 14.7 16.9 19.0 21.7 23.6 27.9
10 16.0 18.3 20.5 23.2 25.2 29.6
11 17.3 19.7 21.9 24.7 26.8 31.3
12 18.5 21.0 23.3 26.2 28.3 32.9
13 19.8 22.4 24.7 27.7 29.8 34.5
14 21.1 23.7 26.1 29.1 31.3 36.1
15 223 25.0 27.5 30.6 32.8 37.7
16 23.5 26.3 28.8 32.0 34.3 39.3
17 24.8 27.6 30.2 33.4 35.7 40.8
18 26.0 98.9 315 34.8 37.2 42.3
19 27.2 30.1 32.9 36.2 38.6 43.8
20 28.4 31.4 34.2 37.6 40.0 45.3
21 29.6 32.7 35.5 38.9 41.4 46.8
22 30.8 33.9 36.8 40.3 42.8 48.3
23 32.0 35.2 38.1 41.6 44.2 49.7
24 33.2 36.4 39.4 43.0 45.6 51.2
25 34.4 37.7 40.6 44.3 46.9 52.6
2% 35.6 38.9 41.9 456 48.3 54.1
27 36.7 40.1 43.2 47.0 49.6 55.5
28 37.9 41.3 44 .5 48.3 51.0 56.9
29 39.1 42.6 45.7 49.6 52.3 58.3
30 40.3 43.8 47.0 50.9 53.7 59.7
35 46.1 49.8 53.2 57.3 60.3 66.6
40 51.8 55.8 59.3 63.7 66.8 73.4
45 57.5 61.7 65.4 70.0 73.2 80.1
50 63.2 67.5 71.4 76.2 79.5 86.7
55 68.8 73.3 77.4 82.3 85.7 93.2
60 74.4 79.1 83.3 88.4 92.0 99.6
65 80.0 84.8 89.2 94.4 98.1 106.0
70 85.5 90.5 95.0 100.4 104.0 112.3
75 91.1 96.2 100.8 106.4 110.3 118.6
80 96.6 101.9 106.6 112.3 116.3 124.8
85 102.1 107.5 112.4 118.2 122.3 131.0
90 107.6 113.1 118.1 124.1 128.3 137.2
95 113.0 118.8 123.9 130.0 134.2 143.3
100 118.5 124.3 129.6 135.8 140.2 149.4
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(i1)

(i)
(i)

Q4. (a) (i)

(i)

(iii)

HXS-B-MGMT

$aEH Y dayades 3cE & U “qefiF 3Icure femmi w1 @ I
Gehe T ohl TN hifT |

weh fafimior st g9 10 T FHAT SRR (YA A1EH) TN H oAl
2 | et 10 73t o riehe Frferfaa amoft # fow mo # -

QU SehTEAl | el A
e EEOERI
150 1,000

tar favarm 2 T a8 el () o= ofifeufosi (i) & &

EEIRCRIRG RN

(A) T dimreti & a1y ve e =rd samEe arfe g aitfefaa
(vrdi) § ol AT T FHEAT BT 95% IO HwreAi Wk SFer um
S |

(B) wH ofifsre o 3mmet 5 4931 | grogul gehrsat ht Te

3,4,2,0Td 77 |

e (Tfthehet) &9 & yeiia Hifse fr s ufsean fresor 4 2
YT & |

Apply the concept of “Decay Curve of New Product Ideas” to an

innovative product like ‘e-Bike’.

A manufacturing company always uses a sample size of 10. Data
for the past 10 samples are as follows :

Number of Total Units
Defective Units Sampled
150 1,000

The system is believed to be operating under normal conditions.
(A) Construct a control chart with control limits such that
measurements for 95% of the units under normal conditions
would fall within the control limits.

Suppose the number of units defective in the next 5 samples
are :
3,4,2,0and 7.

Demonstrate graphically whether the process is under
control or not.

fope wehR Fqaq T fafshadr it T @ &9 et} 2 W dqed
S hl B i U A =N 1 9oi9 hHifsu |

5.3, SIHAT o Wegl § “@UE TUrET T 85% HF YeRHA Wi fean o
ghdl 2 | fava @l 3care yonferi & ded # 39 e i fad=m
ifo |

U Higea fashfid i areft st 4 “Faag-famm’ quredn & geeea 8
U see, &% dee Ud AR soieh g hl 7 Yfieht Bidt 8 2

9

(B)




(iv) Tordll s & fog Frafafed gt & 8 2

Ry e uTfad Tiafafe
U 9
T 1= 11
Eil 2-3 10
il 2-4 8
Ell X5 5
3 3-6 6
3 4-6 9
K 5-17 D
T 617 7
33 7-8 12
E| 7-9 5

(A) Feaeh g Wifdu |
(B) shifass 9 (Tsrfeerat Teat) @ifSw |

(1) How does the balancing line reduce the cost of idleness ? Describe
the steps involved in solving a line balancing problem.

(ii) W.E. Deming said, “85% of poor quality can be attributed to
management”. Discuss this statement in the context of World
Class Manufacturing Systems.

(iii)  What role is played by Green belts, Black belts and Master Black
belts for managing ‘Six-Sigma’ quality in a Software Development
Company ?

(iv)  For a project, the following information is given :

. Expected Activit
] . CoII)npletion Tim(}e’
A 1-2 11
B 2-3 10
C 2-4 8
D 2-5 5
E 3-6 6
F 4-6 9
G 5-17 2
H 6-"7 7
I 7-8 12
J 7-9 5

(A) Draw the network diagram.
(B) Find the critical path.

HXS-B-MGMT 10



b) @) m%ﬁﬁﬁaﬁwﬁam@@mmﬁl%mwwwﬁr@
TR | I wEEEY oM eIy :
aeqdT a1 afy

o|lo|a|lo|lo|oi|w| |~
Aol wlo|w|lo|~R|

—
(aw]
—
—

—
—
b
(e

ﬂwwﬁﬁ%QW%%%m§

12 11

() eim dm (e fafie) v & fagra @ @ 2 W Jfe <l s
1 fareremr Hifsre | fereaar gherr § saehl F a1 TR 8 ?

1) Twelve salesmen are ranked for efficiency and their length of

service. Find the rank correlation coefficient. 5
Salesmen Efficiency | Length of Service
A 1 2
B 2 1
C 3 5
D 5 3
E o 9
F 5 7
G 7 7
H 8 6
I 9 4
J 10 i |
K 11 10
L 12 11

(ii) What are the tenets of Central Limit Theorem ? Discuss
the concept of Standard Error. What is its utility in hypothesis
testing ? 3+2+5

HXS-B-MGMT 11




(© () forell Feft & for €., ol wgearot 2 9
(i)  E.3d. Srarerm & ol yedsli va sui gft el i aweET |
(i) fopdl f Somft. frrmam wrHfRT % 9r § frar @ R
HIT |

(1) Why is ERP important to a company ?

(i)  Explain the economic aspects of ERP implémentation and the
hidden cost therein.

(iii)  Discuss in detail any three ERP implementation strategies.

HXS-B-MGMT 12



Q5. (a)
(b)
(c)
(d)
(e)
Q6. (a)

©us B
SECTION B

“ara TR foe | ST SEged i g b fofe arfier &=l | 3En s
T o AT T8 ¢ W@ g |7 e i |

“The Government of India has been making efforts to remove the
regional imbalances in development by providing incentives for setting
up industries in rural areas.” Elucidate.

() & amfdes wehishto & fafvm i &1 aui i |

(i) ‘sifede’ & vy va faue @ 7 2

(1) Describe the different levels of regional economic integration.
(i)  What are the pros and cons of ‘BREXIT" ?

‘o 3 (faem) S fop 5d o (Tede) B 381 i THRIAR qod &
BT |7 T MY 39 HAT H HgHd & ? U U 3G ¥ YA I HI
sifacs g Hifsre | auzmse foF S e Yeshd &1 i & 2 |

“A vision is too abstract to be of any practical value.” Do you agree with
the statement ? Justify your answer with a suitable example. Explain
how objectives form hierarchy.

(i) 39 Geh hl AT HIfTT ST 29 GfdedgicHehdT sl THTfad &id & |
(i) 39 =<Hl Hl GHARY ST Th HIHT I YRd § TGqET HH H
ST W1 The i 2q HodTehd il ATfey |

(1) Elucidate the factors that influence country competitiveness.

(ii))  Explain the factors that a company should evaluate to assess ‘ease
of doing business in India’.

grewifer fRiem d S, afee’ Su ggmar w7 2 W adwifaRn
foroetuT % @ oY Tg | § 2

How does BCG Matrix help in portfolio planning ? What are the
advantages and limitations of such a portfolio analysis ?

() A e Aifq d@ e Wit 1 319aE 1 Sfifac = g 2
(i) “gdu™ § depiehl-3ATide vearaeil H ‘AveieRor Ye w1 HeEwd sSadl Sl
@2 |7 IR 31efegaen & gibed | 39 A i HESU |

(iii) TP R FaUTE I AR i G 1T o o (G0 3fedqd I 3%
wid (3. H.H.) g fou s @ fafie wieareat 1 fag=mr Hifsw |
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(1)

(i1)

(iii)

d) @)

(ii)

(i)

(i1)

(c) (1)

(ii)

(iii)

(i)

(i1)

(iii)

Q7. (a) (1)

(i1)

HXS-B-MGMT

What is the rationale behind liberalization strategies adopted by
the New Industrial Policy ?

“The term ‘globalisation’ assumes increasing importance in
today’s techno-economic parlance.” Explain this statement in the
context of the Indian economy.

Discuss the various initiatives undertaken by the Indian
Chamber of Commerce (ICC) to promote both national and
international trade.

dfeqes TeW H FHATNE! HT YT HH ok (AC qgUEE  HARI
(TH.GA.H1.) o R 39AN H &Tg I ol dR diehide qag i &l
Ui HIT |

< % AR-UR FER(AA] 1 THFH H HEHIdeh M T ERLS
Hiesd FAUPT Tauehi ! 8 Tue s=ar 8 2

Describe the four cultural predispositions that MNCs are likely to
adopt towards managing employees in global context.

How does Hofstede’s model on cultural dimensions equip
international managers with an understanding of cultures across
countries ?

UL % Hod-TEe Hied hl WAl va fedae wiafafedi & = %
IFagrEYl ! YgA-T |

T Ee favayer e Ferford foRam AT 8 2 Sereor i wErEr @
HHATRT |

“Torfifa AT T 9T HA B, AT WHIT S T8I wdl 2 | 39
HUF T ATATATHD Tovetsor 6 |

Identify the linkages between primary and secondary activities of
Porter’s value-chain model.

How is value-chain analysis conducted ? Explain with the help of
an example.

“Strategy follows structure, structure supports strategy.”
Critically analyse this statement.

“Tpelt afaem 1 3e ufdggl & FW UfdEugicHs a9 9Ted i Ud
U g H M (SHiEh) WHidaT meg idt 8 |7 Icdsh JehR i
AT WHITT &g STIE 3SR gRT 36 e i foedr & a9zmsy |
I9Yh IQTEN hl 3IgYd Hd BY [oRdR, ThIwtl wa fafadiso 6
foepra wrife 1 Tmemse | e ofifeafat 4 3 wrifeat stoam &
o1 wariferen 3w & 2
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(1) “Generic strategies help a firm to gain and sustain competitive
advantage over its rivals.” Elaborate this statement by giving
suitable examples for each type of generic strategy. 8

(i1))  Explain the growth strategies of expansion, integration and
diversification by citing suitable examples. Under which
conditions are these strategies most suitable for adoption ? 12

(b) HEWE & % b IUHAT (F1.08.7,) P TWHR gRI Yafed va FRfba fFn
STl ® | 3 IWhAT (UE.,) % IWYE IGEON Bl 3gYd Hid §U ANR H
TLHR <l Fgwifiar &1 siifacr fiag Fife | ®&n o oma & 6 51 4 39
.08, T YR H BT TR H1 (01T 3fd B 2 39 IW &k wmeda H
H T |
A number of Public Sector Undertakings (PSUs) are managed and
controlled by the government. Justify the State participation in business
by citing suitable examples from these PSUs. Do you think that the
government’s decision to monetize some of these PSUs is justified ?
Give reasons to support your answer. 1045

© () Toouf =R § w3 fofte fomayor aer-fient =t ausmsu |
(i) Tr=faiea yoat i gea fasmand @ 8 2
(A) 9@ 9=
(B) ©eH W
(C) arfurses sfish
(D) gt sfisen

(E) iHT JH1v1-93

(1) Explain the various financing techniques employed in foreign
trade. 5
(ii))  What are the main features of the following documents ? 10

(A) Letter of Credit

(B) Bill of Lading

(C) Commercial Invoice
(D) Consular Invoice

(E) Insurance Certificate

Q8. (a) () <fF UueM WY UE =g UM Y§Y H gl HHEAY ud
HHHHATE 8 ?
(i) AU YeTe yau § aftafea fafie wHifas g8 = aqeme |
(iii)  dfvae TeTeRe ey (fesed) & wftfera fafim gei o1 avfa fhifs |
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(1)

(ii)

(iii)

(b) @

(i)

(iii)

(1)

(i1)

(iii)

(e @)

(ii)

(1)

(i1)
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What are the similarities and dissimilarities between domestic
operations  management and  international operations
management ?

Explain the various strategic issues involved in international
operations management.

Describe the various issues involved in global organizational
design.

W i (aie) & e w6 foem it sitmew (T ue w)
AT I L T 8 2

1 ferell wfera ot T wfthe aleh & st AT TWE R 2 319 I
1 3N fag hifsm |

ST WiHIfdeh M % aTasie, 3 U4 we U 3fead giong T8 2 a
2 | YUY IETEN 1 IgYd I gU WA HROT i fad=mn Hifve |
Why are mergers and acquisitions (M&As) gaining popularity
among Indian corporates ?

Is it possible to take over a target company in a hostile manner ?
Justify your answer.

Despite comprehensive strategic planning, many M&As do not
yield the desired results. Discuss the possible reasons for the
same, citing suitable examples.

“formd T 3T Hieral A SEwns faard # G @ €, 9
adfl, wmed | afe g T8, @ s woewia § 17 39 % % aTdls
H, $ FAfaEl % I ¥g Wi ffid e @t 61 sfie 6 e
T |

“Staifer wTeSI faraor gureh (f.€.uw. ) wer @ we de Aify 6
IR 3, R ot YR @ wd Huifed A i v St SEEAr
B2 |7 MR H @rE U9 907 gE e S § i€ w1 sreloren
U9 Rl W eI hid A §U $H hYH 1 AT vl
I |

“The past decades have witnessed a number of scandals and
shareholder disputes, all of which indicate lacunae, if not lapses,
in governance.” In the light of this statement, discuss the role of
Indian corporate governance framework in responding to these
challenges.

“While the Public Distribution System (PDS) forms a cornerstone
of government food and nutrition policy, India continues to be
home to a large population of hungry and malnourished people.”
Critically analyze this statement by focussing on the functioning
and efficiency of the PDS in achieving food and nutritional
security in India.

16

10

5



